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QUESTION 1

After creating empty mount point /xfs1, you execute the command:

# mkfs —t xfs —L /xfs1 -l logdev=/dev/sdd1 /dev/sdhl

Which two statements are true about the effects of executing the mkfs command?
A. It fails if there is an existing XFS file system on /dev/sdhl.

B. It fails if there is an existing XFS log on /dev/sdd1.

C. It fails if there is an existing XFS file system on /dev/sdd1.

D. It fails because there is no size specified for the XFS log.

E. The xfs1 file system is mounted automatically during system startup.

F. It creates and mounts the /xfs1 file system.

Correct Answer: DF

QUESTION 2

You need to disable access to all LUNs shared through one specific target, target ID 3.
Which command would you use to achieve this?

A. tgtadm —update —mode target —tid 3 —name=online —value=0

B. tgtadm —mode target —op update —tid=3 online =0

C. tgt-admin —offline tid=3

D. service tgtd stop_target 3

Correct Answer: C

QUESTION 3

Examine the udev device naming rule:
KERNEL=="hdb", NAME="disk1"
Which statement is true?

A. A disk device with a default kernel device name of /dev/hdb is accessible using the kernel device names /dev/diskl
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and /dev/hdb.
B. A disk device with a default kernel device name of /dev/hdb has an additional device special file name of /dev/disk1.
C. A disk device with a default kernel device name of /dev/hdb is replaced with /dev/diskl. /dev/hdb does not exists.

D. A disk device with the NAME attribute (from sysfs) matching with disk1l is accessible using the kernel device name
/dev/hdb.

Correct Answer: A

QUESTION 4

Which command would you use to start a container in the background so that it does not use the current terminal as its
console?

A. Ixc-start-daemon —n
B. Ixc-start —n --daemon
C. Ixc-start —n --detach
D. Ixc-start —n and
Correct Answer: D

Reference: https://webcache.googleusercontent.com/search?q=cache:E9i3rUE3cLwJ:https://
wiki.debian.org/LXC+andcd=1andhl=enandct=cInkandgl=pkandclient=opera

QUESTION 5

Which three features are included in the btrfs file system? (Choose three.)
A. general-purpose volume manager

B. online defragmentation

C. block devices mirroring

D. cluster file system

E. online resizing

F. transparent compression

Correct Answer: BEF

Reference: https://docs.oracle.com/cd/E37670_01/E37355/html/ol_about_btrfs.html#
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